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Across ézo (? Peﬁpert') has an acdcou:clf og 5.kThe owCTer ofhfhe l7|usiness ;
3. M. i , it has been overdue for takes goods with a selling price o
ammnﬁl\g}h@’ Zﬂﬁr‘;ggiﬁfia an has months, he is charged at 5%, the R400, the business uses a 60%
an amount owfng of R800, his period interest amount. mark-up. The Journal entry amount.
in months Down 6. A business buys goods for
7. A debtor was given a 2% 1. If an entry of R53 was R2500 rand with an additional R250,
discount on his account of R5000, incorrectly made into vehicles transportation costs, added onto it,
the price to be paid. instead of repairs, the amount you The business used a 100% mark-up,
9. A loan of 150 000 borrowed would put on the credit side of What was the cost price.
for 8 months at an interest rate of vehicles Yo reverse Th's‘,' 8. A printer and a mouse was sold
16%, the interest amount. 5&’;%‘%?“?:;‘&2232? Egggo < E% Slgg?(%/?%kmark—up) & |
1 °o 1'
10. A debtor owing R32 000 has rereived after 2 years, at an Whm(is /o Mark :2?«&?"“ ively,

had an overdue account for 6

: ° interest rate of 20%
months, interest charged at 12%. 11. A debtor settles his account of

4. a debtor is 5 months overdue R15 000. He has received a 10%

on their account and is charged : ;
7.5%, their interest amount’is 175. discount. The amount he received.

what is the original amount
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